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Simplifying Trig Expressions Using Identities

1. Factor each of the following:
A) 1-cos’ @ B) 1-sin’ @ C) sin® @—cos* @
D) sina —sin’ o E) tan’ a—cot’ & F) sec’ 8—1

2. Express each of the following in terms of siné@ or cosé , or both.

A) ! B) sin’ 6+— C) cosé
secd sec” @ secd

s l+cot’ @

D) tan&@cos 8 E)1—csc” @ —
cot” @
3. Write each of the following in terms of cosé.
A) sin’ @ B) cos’ @ C) cot* @ D) tan” &
E) cotBsin F) tan @sin G) Cscfe H) cotfcscd
cot

4. Express each of the following in terms of sin @ or cosé , or both.

csc’ @
A) tan@sect B) — C) 1+tan’ @ D) 1+cot’ 6
cot” @
tan & F cotd G) sec? 6—tan? @ H) 1+tanéd
1+tanéd 1+coté secl

5. Write each of the following in simpler form (this means to write in terms of one of the primary ratios)

. . cos’ @ . . )
A) sinfcot 8 B) sin@+— p C) sin“ @+sin“ Ocot” 8
sin
D) cos® 8 +sin” Bcosb E) cotf@secHsin b F) (sin6?+cosl9)2 —2sinfcosd

6. Write each of the following in simpler form (this means to write in terms of one of the primary ratios)

A) sin(x+£j—cos(x+zj B) sin(x+£j+cos(x+zj
3 6 6 3
@) sin(3—xJ cos[ﬂJ + COS[S—XJ sin(ﬂj D) cos(a—b)—cos(a + b)
7 7 7 7

e) sin(a+ ) —sin(7r —a)



